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Plot Sensor and FgRec Data
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P3-10

BfiE) | EBIETK (D) | ElE (EH/HK) | XK EFE

05:50 294 150.0 (& =| 1Ri%@05:50 Bz (kABERSE)
07:00 294 150.0 S| {Ri&e07:00 Bal (REEESE)
07:50 294 150.0 RS {Ri&e07:50 BHal (REAERE)
09:10 294 150.0 e {Ri8e09:10 Bz (REERSE)
10:15 294 150.0 | {Rige10:15 Bzh (REERSE)
11:00 294 150.0 | {Rige11:00 B3h (REERKSE)
11:45 294 150.0 B Rige11:45 Bz (REAERE)
12:30 294 150.0 S| Ri%e12:30 Bz (REERSR)
13:15 294 150.0 RS {Ri&e13:15 Bz (REERS)
14:05 294 150.0 BS| 1Ri%e14:05 Bz (GGREMEESE)
14:55 294 150.0 S| Ri%e14:55 Bz (REERSR)
15:55 294 150.0 (Z=| 1Ri%@15:55 Bz (REAERSE)
249t 3528.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (191.0 :

ZRIALBRIERE159. 0 ml.

H#EEIHECE (2635.0 vs 3835.0) 1R

159.0), FAlEEHT—@ L XA HS
AEREMEC (2635.0) 5i%EEC (2000.0) RMELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10 0, Day=41 (2025-05-13)
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"FVO' ] missing
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Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @43 14:52: ET=1438 Fg=1650.0 Ro=214.0
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P3-10

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:05 294 150.0 |Z=| 1Ri&@07:05 Bzl (kEB{EEEE)
07:50 294 150.0 (& =| {Ri%@07:50 Bz (KREEESE)
08:55 294 150.0 |Z=| 1Ri&@08:55 Bzl (KPB{EEE)
10:00 294 150.0 FH| 1Bi%@10:00 Bzh (RAEREE)
11:10 294 150.0 FH| 1Ri%@11:10 B3h (GRABERRSE)
11:55 294 150.0 FE| 1BRi%@11:55 Bz (kAFERSE)
12:45 294 150.0 FH| 1Ri%e@12:45 Bz (kBERSE)
13:40 294 150.0 | FA| 1Ri%&e13:40 Bz (RAERER)
14:35 294 150.0 FA| {Ri&e@14:35 Bz (GRAEREE)
15:40 294 150.0 FE| 1BRi%@15:40 Bz (kBERSE)
16:55 294 150.0 FA| 1BRi18@16:55 Bzh (RAEEE)
23t 3234.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MEREHERE STMAAEARS (191.0 : 159.0), AEEHTF—@E XAH4
ZRIALBRIERE159. 0 ml.

REXEEBIEC (2610.0) 5% FEEC (2000.0) REKR KA, FHE
HEERECE (2610. 0 vs 3465.0) FS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=40 (2025-05-12)

150 Fo—————F——————F——————F-—————F——————F-—————F——————F——————F——————F——————f——————F-————]
VI, VBIRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1910 - 2000
1600 1500 590 o
100 - s a1 150 %
- 1000 S
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40 60 L 500
Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
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0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
- 4
Bylnit @D43 14:52: ET=958 |[Fg=1200.0 Ro=151.0 ! —
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P3-10

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

07:20 288 150.0 S| {Ri&e07:20 Bal (REEESE)
08:10 288 150.0 BE| {Ri&e08:10 Bzl (REAEHEE)
09:25 288 150.0 BE| 1Ri%e09:25 B3 (RF{EREE)
10:20 288 150.0 el Ri8@10:20 Bal (REAEESE)
11:10 288 150.0 el Rige11:10 Bz (REAERSE)
11:55 288 150.0 BE| BRi%et11:55 Bz (GREAERESE)
12:50 288 150.0 Bl Rige12:50 Bal (REAEESE)
13:45 288 150.0 S| 1Rige13:45 Bzh (REERSE)
14:55 288 150.0 RS 1BRi&e14:55 Bz (REERSE)
16:00 288 150.0 S| Ri%e16:00 Bz (REERER)
=23t+]2880.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

TERRHER 2 STEEART (187.0 :

ZRIALBRERE153.0 ml.

153.0), AlEEHT—@ % XA HS
AEREMEC (2650.0) 5i%EEC (2000.0) REL KA, /T




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=39 (2025-05-11)

150 e e e e e ]
VI, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 1870 - 2000
1600 K530
100 4 1400 L 1500
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- 1000
] 40 L 500
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Warning: lcol [FVI',| "FVO’'] missing
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50 A
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n
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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